

Research Article

Yuankui Ma, Lingling Luo, Taekyun Kim*, Hongze Li, and Wenpeng Zhang*

A study on a type of degenerate poly-Dedekind sums

<https://doi.org/10.1515/dema-2023-0121>

received September 20, 2022; accepted September 28, 2023

Abstract: Dedekind sums and their generalizations are defined in terms of Bernoulli functions and their generalizations. As a new generalization of the Dedekind sums, the degenerate poly-Dedekind sums, which are obtained from the Dedekind sums by replacing Bernoulli functions by degenerate poly-Bernoulli functions of arbitrary indices are introduced in this article and are shown to satisfy a reciprocity relation.

Keywords: degenerate poly-Dedekind sums, degenerate polylogarithm functions, degenerate poly-Bernoulli polynomials

MSC 2020: 11F20, 11B68, 11B83

1 Introduction and preliminaries

As is well known, the Euler polynomials and Bernoulli polynomials are given by

$$\frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} \quad (\text{see [1,2]}), \quad (1)$$

when $x = 0$, $E_n = E_n(0)$ are the Euler numbers; $B_n = B_n(0)$ are the Bernoulli numbers.

Apostol considered generalized Dedekind sums by replacing the first Bernoulli function appearing in Dedekind sums by any Bernoulli functions and derived a reciprocity relation for them

$$S_p(h, m) = \sum_{\mu=1}^{m-1} \frac{\mu}{m} \bar{B}_p\left(\frac{h\mu}{m}\right) \quad (\text{see [3-9]}), \quad (2)$$

where $\bar{B}_p(x) = B_p(x - [x])$ are the Bernoulli functions, where $[x]$ denotes the greatest integer function not exceeding x .

As one generalization of the Apostol's generalized Dedekind sums, the poly-Dedekind sums associated with the type 2 poly-Bernoulli functions were introduced (see [10,11]). The poly-Dedekind sums associated with the poly-Bernoulli functions were recently introduced,

$$S_p^{(k)}(h, m) = \sum_{\mu=1}^{m-1} \frac{\mu}{m} \bar{B}_p^{(k)}\left(\frac{h\mu}{m}\right) \quad (\text{see [12]}), \quad (3)$$

* **Corresponding author: Taekyun Kim**, Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea; School of Science, Xi'an Technological University, Xi'an, 710021, Shaanxi, P. R. China, e-mail: tkkim@kw.ac.kr

* **Corresponding author: Wenpeng Zhang**, School of Science, Xi'an Technological University, Xi'an, 710021, Shaanxi, P. R. China, e-mail: wpzhang888@163.com

Yuankui Ma: School of Science, Xi'an Technological University, Xi'an, 710021, Shaanxi, P. R. China, e-mail: mayuankui@xatu.edu.cn

Lingling Luo: School of Science, Xi'an Technological University, Xi'an, 710021, Shaanxi, P. R. China, e-mail: luolingling@st.xatu.edu.cn

Hongze Li: School of Mathematical Sciences, Shanghai Jiao Tong University, Shanghai, 200240, P. R. China, e-mail: lih@sjtu.edu.cn

when $k = 1$, we have $B_p^{(1)}(x) = B_p(x)$, where $\bar{B}_p^{(k)}(x) = B_p^{(k)}(x - [x])$ are the poly-Bernoulli functions, $B_p^{(k)}(x)$ are the poly-Bernoulli polynomials given by

$$\frac{Li_k(1 - e^{-t})}{1 - e^{-t}} = \sum_{p=0}^{\infty} B_p^{(k)}(x) \frac{t^p}{p!} \quad (\text{see [12]}), \quad (4)$$

when $x = 0$, $B_p^{(k)} = B_p^{(k)}(0)$ are the poly-Bernoulli numbers.

Kim first introduced the Dedekind-type DC sums

$$T_p(h, m) = 2 \sum_{\mu=0}^{m-1} (-1)^{\mu} \frac{\mu}{m} \bar{E}_p\left(\frac{h\mu}{m}\right), \quad (h, m \in \mathbb{N}) \quad (\text{see [13,14]}), \quad (5)$$

where $\bar{E}_p(x) = E_p(x - [x])$ are the Euler functions (see [3,13,14,19]).

Simsek (see [14]) found trigonometric representations of the Dedekind-type DC sums and their relations to Clausen functions, polylogarithm function, Hurwitz zeta function, generalized Lambert series (G-series), and Hardy-Berndt sums.

The poly-Dedekind-type DC sums, which are obtained by replacing the Euler functions appearing in Dedekind-type DC sums by any poly-Euler functions of arbitrary indices, were given by

$$T_p^{(k)}(h, m) = 2 \sum_{\mu=1}^{m-1} (-1)^{\mu} \frac{\mu}{m} \bar{E}_p^{(k)}\left(\frac{h\mu}{m}\right) \quad (\text{see [15]}), \quad (6)$$

where $h, m, p \in \mathbb{N}$, $\bar{E}_p^{(k)}(x)$ are the poly-Euler functions, $\bar{E}_p^{(k)}(x) = E_p^{(k)}(x - [x])$, $E_p^{(k)}(x)$ are the poly-Euler polynomials given by

$$\frac{Li_k(1 - e^{-2t})}{t(e^t + 1)} e^{xt} = \sum_{p=0}^{\infty} E_p^{(k)}(x) \frac{t^p}{p!} \quad (\text{see [1,2,12]}), \quad (7)$$

when $x = 0$, $E_p^{(k)} = E_p^{(k)}(0)$ are the poly-Euler numbers.

In this article, as another generalization, we consider degenerate poly-Dedekind sums, which are obtained by replacing the first Bernoulli function appearing in Dedekind sums by degenerate poly-Bernoulli functions of arbitrary indices. We derive a reciprocity relation for them.

For the rest of this section, we recall some necessary facts that are needed throughout this article. For any $\lambda \in \mathbb{R}$, the degenerate exponential function is defined by

$$e_{\lambda}^x(t) = \sum_{n=0}^{\infty} (x)_{n,\lambda} \frac{t^n}{n!}, \quad e_{\lambda}(t) = e_{\lambda}^1(t) \quad (\text{see [1,11,16–18]}), \quad (8)$$

where $(x)_{0,\lambda} = 1$, $(x)_{n,\lambda} = x(x - \lambda) \cdots (x - (n - 1)\lambda)$, $(n \geq 1)$.

In [19], the degenerate Bernoulli polynomials are defined by

$$\frac{t}{e_{\lambda}(t) - 1} e_{\lambda}^x(t) = \sum_{n=0}^{\infty} \beta_{n,\lambda}(x) \frac{t^n}{n!}, \quad (9)$$

when $x = 0$, $\beta_{n,\lambda} = \beta_{n,\lambda}(0)$ are the degenerate Bernoulli numbers.

We observe that

$$\begin{aligned} \sum_{l=0}^{n-1} e_{\lambda}^l(t) &= \frac{t}{t(e_{\lambda}(t) - 1)} (e_{\lambda}^n(t) - 1) \\ &= \frac{1}{t} \sum_{j=0}^{\infty} (\beta_{j,\lambda}(n) - \beta_{j,\lambda}) \frac{t^j}{j!} \\ &= \sum_{j=0}^{\infty} \frac{\beta_{j+1,\lambda}(n) - \beta_{j+1,\lambda}}{j+1} \frac{t^j}{j!}. \end{aligned} \quad (10)$$

On the other hand,

$$\sum_{l=0}^{n-1} e_{\lambda}^l(t) = \sum_{l=0}^{n-1} e_{\lambda/l}(lt) = \sum_{j=0}^{\infty} \sum_{l=0}^{n-1} l^j(1)_{j,\lambda/l} \frac{t^j}{j!}. \quad (11)$$

By (10) and (11), we have

$$\sum_{l=0}^{n-1} l^j(1)_{j,\lambda/l} = \frac{B_{j+1,\lambda}(n) - B_{j+1,\lambda}}{j+1}. \quad (12)$$

The type 2 degenerate Stirling numbers are defined by (see [20,21])

$$\frac{1}{k!}(e_{\lambda}(t) - 1)^k = \sum_{n=k}^{\infty} S_{2,\lambda}(n, k) \frac{t^n}{n!}, \quad (n \geq 0). \quad (13)$$

The degenerate polylogarithmic function of index k is defined by Kim and Kim to be (see [20])

$$\text{Li}_{k,\lambda}(x) = \sum_{n=1}^{\infty} \frac{(-\lambda)^{n-1}(1)_{n,1/\lambda}}{(n-1)!n^k} x^n, \quad (k \in \mathbb{Z}), \quad |x| < 1. \quad (14)$$

When $k = 1$,

$$\text{Li}_{1,\lambda}(x) = -\log_{\lambda}(1-x) = \sum_{n=1}^{\infty} \frac{(-\lambda)^{n-1}(1)_{n,1/\lambda}}{n!} x^n, \quad (15)$$

where $\log_{\lambda}(x)$ is the inverse to $e_{\lambda}(x)$.

In [16], the degenerate poly-Bernoulli polynomials of index k are defined by

$$\frac{\text{Li}_{k,\lambda}(1 - e_{\lambda}(-t))}{e_{\lambda}(t) - 1} e_{\lambda}^x(t) = \sum_{n=0}^{\infty} B_{n,\lambda}^{(k)}(x) \frac{t^n}{n!}. \quad (16)$$

Note that $B_{n,\lambda}^{(1)}(x) = \beta_{n,\lambda}(x)$, when $x = 0$, $B_{n,\lambda}^{(k)} = B_{n,\lambda}^{(k)}(0)$ are the degenerate poly-Bernoulli numbers.

From (16), we note that

$$B_{n,\lambda}^{(k)}(x) = \sum_{l=0}^n \binom{n}{l} B_{l,\lambda}^{(k)}(x)_{n-l,\lambda} = \sum_{l=0}^n \binom{n}{l} B_{n-l,\lambda}^{(k)}(x)_{l,\lambda}, \quad (n \geq 0). \quad (17)$$

2 Reciprocity relations for the degenerate poly-Dedekind sums

By replacing poly-Bernoulli functions by degenerate poly-Bernoulli functions of arbitrary indices from the poly-Dedekind sums, the degenerate poly-Dedekind sums are given in the following,

$$S_{p,\lambda}^{(k)}(h, m) = \sum_{\mu=1}^{m-1} \frac{\mu}{m} \bar{B}_{p,\lambda}^{(k)}\left(\frac{h\mu}{m}\right), \quad (18)$$

where $h, m, p \in \mathbb{N}$, $\bar{B}_{p,\lambda}^{(k)}(x)$ are the degenerate poly-Bernoulli functions, $\bar{B}_{p,\lambda}^{(k)}(x) = B_{p,\lambda}^{(k)}(x - [x])$.

Note that

$$S_{p,\lambda}^{(1)}(h, m) = \sum_{\mu=1}^{m-1} \frac{\mu}{m} \bar{B}_{p,\lambda}^{(1)}\left(\frac{h\mu}{m}\right) = \sum_{\mu=1}^{m-1} \frac{\mu}{m} \bar{\beta}_{p,\lambda}\left(\frac{h\mu}{m}\right). \quad (19)$$

From (16), we note that

$$\frac{\text{Li}_{k,\lambda}(1 - e_{\lambda}(-t))}{e_{\lambda}(t) - 1} = \sum_{n=0}^{\infty} B_{n,\lambda}^{(k)} \frac{t^n}{n!}. \quad (20)$$

So we have

$$\begin{aligned}
\text{Li}_{k,\lambda}(1 - e_\lambda(-t)) &= \left(\sum_{l=0}^{\infty} B_{l,\lambda}^{(k)} \frac{t^l}{l!} \right) (e_\lambda(t) - 1) \\
&= \left(\sum_{l=0}^{\infty} B_{l,\lambda}^{(k)} \frac{t^l}{l!} \right) \left(\sum_{m=0}^{\infty} (1)_{m,\lambda} \frac{t^m}{m!} - 1 \right) \\
&= \sum_{n=1}^{\infty} (B_{n,\lambda}^{(k)}(1) - B_{n,\lambda}^{(k)}) \frac{t^n}{n!}.
\end{aligned} \tag{21}$$

On the other hand, we also have

$$\begin{aligned}
\text{Li}_{k,\lambda}(1 - e_\lambda(-t)) &= \sum_{m=1}^{\infty} \frac{(-\lambda)^{m-1}(1)_{m,1/\lambda}}{(m-1)!m^k} (1 - e_\lambda(-t))^m \\
&= \sum_{m=1}^{\infty} \frac{(-\lambda)^{m-1}(1)_{m,1/\lambda}}{m^{k-1}} \frac{(-1)^m}{m!} (e_\lambda(-t) - 1)^m \\
&= \sum_{m=1}^{\infty} \frac{(-\lambda)^{m-1}(1)_{m,1/\lambda}(-1)^m}{m^{k-1}} \sum_{n=m}^{\infty} S_{2,\lambda}(n, m) (-1)^n \frac{t^n}{n!} \\
&= \sum_{n=1}^{\infty} \left(\sum_{m=1}^n \frac{\lambda^{m-1}(1)_{m,1/\lambda}(-1)^{n-1}}{m^{k-1}} S_{2,\lambda}(n, m) \right) \frac{t^n}{n!}.
\end{aligned} \tag{22}$$

Therefore, by (21) and (22), we obtain the following theorem.

Theorem 1. For $n \in \mathbb{N}$, we have

$$B_{n,\lambda}^{(k)}(1) - B_{n,\lambda}^{(k)} = \sum_{m=1}^n \frac{\lambda^{m-1}(1)_{m,1/\lambda}(-1)^{n-1}}{m^{k-1}} S_{2,\lambda}(n, m).$$

Note that, for $k = 1$, we have the following corollary.

Corollary 1. For $n \in \mathbb{N}$, we have

$$\sum_{m=1}^n \lambda^{m-1}(1)_{m,1/\lambda}(-1)^{n-1} S_{2,\lambda}(n, m) = \delta_{n,1},$$

where $\delta_{n,k}$ is the Kronecker's symbol.

For $d \in \mathbb{N}$, we observe that

$$\begin{aligned}
\sum_{n=0}^{\infty} B_{n,\lambda}^{(k)}(x) \frac{t^n}{n!} &= \frac{\text{Li}_{k,\lambda}(1 - e_\lambda(-t))}{e_\lambda(t) - 1} e_\lambda^x(t) \\
&= \frac{\text{Li}_{k,\lambda}(1 - e_\lambda(-t))}{(e_{\lambda/d}(dt) - 1)} \sum_{i=0}^{d-1} e_\lambda^{i+x}(t) \\
&= \frac{\text{Li}_{k,\lambda}(1 - e_\lambda(-t))}{dt} \sum_{i=0}^{d-1} e_{\lambda/d}^{\frac{x+i}{d}}(dt) \frac{dt}{e_{\lambda/d}(dt) - 1} \\
&= \sum_{j=0}^{\infty} d^{j-1} \sum_{i=0}^{d-1} \beta_{j,\lambda/d} \left(\frac{x+i}{d} \right) \frac{t^j}{j!} \frac{1}{t} \sum_{l=1}^{\infty} \frac{(-\lambda)^{l-1}(1)_{l,1/\lambda}}{l^k} \frac{1}{(l-1)!} (1 - e_\lambda(-t))^l \\
&= \sum_{j=0}^{\infty} d^{j-1} \sum_{i=0}^{d-1} \beta_{j,\lambda/d} \left(\frac{x+i}{d} \right) \frac{t^j}{j!} \frac{1}{t} \sum_{l=1}^{\infty} \frac{(-1)^{l-1}(1)_{l,1/\lambda}}{l^{k-1}} \frac{1}{l!} (e_\lambda(-t) - 1)^l \\
&= \sum_{j=0}^{\infty} d^{j-1} \sum_{i=0}^{d-1} \beta_{j,\lambda/d} \left(\frac{x+i}{d} \right) \frac{t^j}{j!} \frac{1}{t} \sum_{m=1}^{\infty} \sum_{l=1}^m \frac{(-1)^{m-1} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(m, l)}{l^{k-1}} \frac{t^m}{m!} \\
&= \sum_{j=0}^{\infty} d^{j-1} \sum_{i=0}^{d-1} \beta_{j,\lambda/d} \left(\frac{x+i}{d} \right) \frac{t^j}{j!} \sum_{m=0}^{\infty} \sum_{l=1}^{m+1} \frac{(-1)^m \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(m+1, l)}{l^{k-1} (m+1)} \frac{t^m}{m!} \\
&= \sum_{n=0}^{\infty} \left(\sum_{j=0}^n \sum_{i=0}^{d-1} \sum_{l=1}^{d-1-j+1} \binom{n}{j} d^{j-1} \beta_{j,\lambda/d} \left(\frac{x+i}{d} \right) \frac{(-1)^{n-j} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(n-j+1, l)}{l^{k-1} (n-j+1)} \right) \frac{t^n}{n!}.
\end{aligned} \tag{23}$$

Therefore, by (23), we obtain the following theorem.

Theorem 2. For $k \in \mathbb{Z}$, $d \in \mathbb{N}$, $n \geq 0$, we have

$$B_{n,\lambda}^{(k)}(x) = \sum_{j=0}^n \sum_{i=0}^{d-1n-j+1} \sum_{l=1} \binom{n}{j} d^{j-1} \beta_{j,\lambda/d} \left(\frac{x+i}{d} \right) \frac{(-1)^{n-j} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(n-j+1, l)}{l^{k-1}(n-j+1)}.$$

For $m, h \in \mathbb{N}$, by (18) and Theorem 2, we obtain

$$\begin{aligned} hm^p S_{p,\lambda}^{(k)}(h, m) + mh^p S_{p,\lambda}^{(k)}(m, h) &= hm^p \sum_{\mu=0}^{m-1} \frac{\mu}{m} \bar{B}_{p,\lambda}^{(k)} \left(\frac{h\mu}{m} \right) + mh^p \sum_{v=0}^{h-1} \frac{v}{h} \bar{B}_{p,\lambda}^{(k)} \left(\frac{mv}{h} \right) \\ &= hm^p \sum_{\mu=0}^{m-1} \frac{\mu}{m} \sum_{j=0}^p h^{j-1} \binom{p}{j} \sum_{v=0}^{h-1} \sum_{l=1}^{h-1p-j+1} \beta_{j,\lambda/h} \left(\frac{\mu}{m} + \frac{v}{h} \right) \\ &\quad \frac{(-1)^{p-j} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(p-j+1, l)}{l^{k-1}(p-j+1)} \\ &\quad + mh^p \sum_{v=0}^{h-1} \frac{v}{h} \sum_{j=0}^p m^{j-1} \binom{p}{j} \sum_{\mu=0}^{m-1} \sum_{l=1}^{m-1p-j+1} \beta_{j,\lambda/m} \left(\frac{\mu}{m} + \frac{v}{h} \right) \\ &\quad \frac{(-1)^{p-j} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(p-j+1, l)}{l^{k-1}(p-j+1)} \\ &= \sum_{\mu=0}^{m-1} \frac{\mu}{m} \sum_{j=0}^p m^{p-j} (mh)^j \binom{p}{j} \sum_{v=0}^{h-1} \sum_{l=1}^{h-1p-j+1} \beta_{j,\lambda/h} \left(\frac{\mu}{m} + \frac{v}{h} \right) \\ &\quad \frac{(-1)^{p-j} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(p-j+1, l)}{l^{k-1}(p-j+1)} \\ &\quad + \sum_{v=0}^{h-1} \frac{v}{h} \sum_{j=0}^p h^{p-j} (mh)^j \binom{p}{j} \sum_{\mu=0}^{m-1} \sum_{l=1}^{m-1p-j+1} \beta_{j,\lambda/m} \left(\frac{\mu}{m} + \frac{v}{h} \right) \\ &\quad \frac{(-1)^{p-j} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(p-j+1, l)}{l^{k-1}(p-j+1)} \\ &= \sum_{\mu=0}^{m-1} \sum_{j=0}^p \sum_{v=0}^{h-1} \sum_{l=1}^{h-1p-j+1} (\mu h) (mh)^{-1} m^{p-j} (mh)^j \binom{p}{j} \beta_{j,\lambda/h} \left(\frac{\mu}{m} + \frac{v}{h} \right) \\ &\quad \frac{(-1)^{p-j} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(p-j+1, l)}{l^{k-1}(p-j+1)} \\ &\quad + \sum_{\mu=0}^{m-1} \sum_{j=0}^p \sum_{v=0}^{h-1} \sum_{l=1}^{h-1p-j+1} (mv) (mh)^{-1} h^{p-j} (mh)^j \binom{p}{j} \beta_{j,\lambda/m} \left(\frac{\mu}{m} + \frac{v}{h} \right) \\ &\quad \frac{(-1)^{p-j} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(p-j+1, l)}{l^{k-1}(p-j+1)} \\ &= \sum_{\mu=0}^{m-1} \sum_{j=0}^p \sum_{v=0}^{h-1} \sum_{l=1}^{h-1p-j+1} \binom{p}{j} (mh)^{j-1} \frac{(-1)^{p-j} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(p-j+1, l)}{l^{k-1}(p-j+1)} \\ &\quad \times \left[(\mu h) m^{p-j} \beta_{j,\lambda/h} \left(\frac{\mu}{m} + \frac{v}{h} \right) + (mv) h^{p-j} \beta_{j,\lambda/m} \left(\frac{\mu}{m} + \frac{v}{h} \right) \right]. \end{aligned} \tag{24}$$

Therefore, by (24), we obtain the following reciprocity theorem for the degenerate poly-Dedekind sums associated with degenerate poly-Bernoulli functions with index k .

Theorem 3. For $m, h, p \in \mathbb{N}$, $k \in \mathbb{Z}$, we have

$$hm^p S_{p,\lambda}^{(k)}(h, m) + mh^p S_{p,\lambda}^{(k)}(m, h) = \sum_{\mu=0}^{m-1} \sum_{j=0}^p \sum_{v=0}^{h-1} \sum_{l=1}^{p-j+1} \binom{p}{j} (mh)^{j-1} \frac{(-1)^{p-j} \lambda^{l-1} (1)_{l,1/\lambda} S_{2,\lambda}(p-j+1, l)}{l^{k-1} (p-j+1)} \\ \times \left[(\mu h) m^{p-j} \beta_{j,\lambda/h} \left(\frac{\mu}{m} + \frac{v}{h} \right) + (mv) h^{p-j} \beta_{j,\lambda/m} \left(\frac{\mu}{m} + \frac{v}{h} \right) \right].$$

When $k = 1$, $\lambda \rightarrow 0$, by Corollary 1, we obtain the following reciprocity relation for the generalized Dedekind sums defined by Apostol.

Corollary 2. For $m, h, p \in \mathbb{N}$, we have

$$hm^p S_p(h, m) + mh^p S_p(m, h) = \sum_{\mu=0}^{m-1} \sum_{v=0}^{h-1} (mh)^{p-1} (\mu h + mv) \bar{B}_p \left(\frac{\mu}{m} + \frac{v}{h} \right).$$

By (12) and (17), let $h = 1$, we note that

$$\begin{aligned} S_{p,\lambda}^{(k)}(1, m) &= \sum_{\mu=1}^{m-1} \frac{\mu}{m} \bar{B}_{p,\lambda}^{(k)} \left(\frac{\mu}{m} \right) \\ &= \sum_{\mu=1}^{m-1} \frac{\mu}{m} \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \left(\frac{\mu}{m} \right)_{p-v,\lambda} \\ &= \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \sum_{\mu=1}^{m-1} \left(\frac{\mu}{m} \right)^{p-v+1} (1)_{p-v, \frac{m}{\mu}\lambda} \\ &= \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \sum_{\mu=1}^{m-1} \left(\frac{\mu}{m} \right)^{p-v+1} \left[(1)_{p-v+1, \frac{m}{\mu}\lambda} + (p-v) \frac{m}{\mu} \lambda (1)_{p-v, \frac{m}{\mu}\lambda} \right] \\ &= \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \sum_{\mu=1}^{m-1} \left(\frac{\mu}{m} \right)^{p-v+1} (1)_{p-v+1, \frac{m}{\mu}\lambda} + \lambda \sum_{v=0}^p \binom{p}{v} (p-v) B_{v,\lambda}^{(k)} \sum_{\mu=1}^{m-1} \left(\frac{\mu}{m} \right)^{p-v} (1)_{p-v, \frac{m}{\mu}\lambda} \\ &= \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{1}{p+2-v} (B_{p+2-v,\lambda}(m) - B_{p+2-v,\lambda}) \\ &\quad + \lambda \sum_{v=0}^p \binom{p}{v} (p-v) B_{v,\lambda}^{(k)} \frac{1}{p+1-v} (B_{p+1-v,\lambda}(m) - B_{p+1-v,\lambda}). \end{aligned} \quad (25)$$

By (17), we have

$$B_{p+2-v,\lambda}(m) - B_{p+2-v,\lambda} = \sum_{i=0}^{p+2-v} \binom{p+2-v}{i} B_{i,\lambda}(m)_{p+2-v-i,\lambda} - B_{p+2-v,\lambda} = \sum_{i=0}^{p+1-v} \binom{p+2-v}{i} B_{i,\lambda}(m)_{p+2-v-i,\lambda}. \quad (26)$$

In the same way as (26), we have

$$B_{p+1-v,\lambda}(m) - B_{p+1-v,\lambda} = \sum_{i=0}^{p-v} \binom{p+1-v}{i} B_{i,\lambda}(m)_{p+1-v-i,\lambda}. \quad (27)$$

By (25), (26), and (27), we obtain

$$\begin{aligned} S_{p,\lambda}^{(k)}(1, m) &= \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{1}{p+2-v} (B_{p+2-v,\lambda}(m) - B_{p+2-v,\lambda}) \\ &\quad + \lambda \sum_{v=0}^p \binom{p}{v} (p-v) B_{v,\lambda}^{(k)} \frac{1}{p+1-v} (B_{p+1-v,\lambda}(m) - B_{p+1-v,\lambda}) \\ &= \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{1}{p+2-v} \sum_{i=0}^{p+1-v} \binom{p+2-v}{i} B_{i,\lambda}(m)_{p+2-v-i,\lambda} \\ &\quad + \lambda \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{p-v}{p+1-v} \sum_{i=0}^{p-v} \binom{p+1-v}{i} B_{i,\lambda}(m)_{p+1-v-i,\lambda}. \end{aligned} \quad (28)$$

Now we assume that $p \geq 3$ is an odd positive integer, so that $B_{p,\lambda} = 0$. Then we have

$$\begin{aligned}
 m^p S_{p,\lambda}^{(k)}(1, m) &= \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{1}{p+2-v} \sum_{i=0}^{p+1-v} \binom{p+2-v}{i} B_{i,\lambda} m^p(m)_{p+2-v-i,\lambda} \\
 &\quad + \lambda \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{p-v}{p+1-v} \sum_{i=0}^{p-v} \binom{p+1-v}{i} B_{i,\lambda} m^p(m)_{p+1-v-i,\lambda} \\
 &= \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{1}{p+2-v} m^p(m)_{p+2-v,\lambda} + \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{1}{p+2-v} \sum_{i=1}^{p+1-v} \binom{p+2-v}{i} B_{i,\lambda} m^p(m)_{p+2-v-i,\lambda} \\
 &\quad + \lambda \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{p-v}{p+1-v} m^p(m)_{p+1-v,\lambda} \\
 &\quad + \lambda \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{p-v}{p+1-v} \sum_{i=1}^{p-v} \binom{p+1-v}{i} B_{i,\lambda} m^p(m)_{p+1-v-i,\lambda} \\
 &= \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{1}{p+2-v} m^p(m)_{p+2-v,\lambda} + \sum_{i=1}^{p+1} \sum_{v=0}^{p+1-i} \binom{p}{v} \binom{p+2-v}{i} \frac{B_{v,\lambda}^{(k)}}{p+2-v} B_{i,\lambda} m^p(m)_{p+2-v-i,\lambda} \\
 &\quad + \lambda \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{p-v}{p+1-v} m^p(m)_{p+1-v,\lambda} \\
 &\quad + \lambda \sum_{i=1}^p \sum_{v=0}^{p-i} \binom{p}{v} \binom{p+1-v}{i} \frac{p-v}{p+1-v} B_{v,\lambda}^{(k)} B_{i,\lambda} m^p(m)_{p+1-v-i,\lambda} \\
 &= \sum_{v=0}^p \binom{p}{v} \frac{B_{v,\lambda}^{(k)}}{p+2-v} m^p(m)_{p+2-v,\lambda} + \sum_{i=1}^{p-1} \sum_{v=0}^{p+1-i} \binom{p}{v} \binom{p+2-v}{i} \frac{B_{v,\lambda}^{(k)}}{p+2-v} B_{i,\lambda} m^p(m)_{p+2-v-i,\lambda} \\
 &\quad + \left(\frac{p+2}{p+1} \right) \frac{B_{p+1,\lambda}}{p+2} m^p(m)_{1,\lambda} + \sum_{v=0}^1 \binom{p}{v} \binom{p+1-v}{p} \frac{B_{v,\lambda}^{(k)}}{p+2-v} B_{p,\lambda} m^p(m)_{2-v,\lambda} \\
 &\quad + \lambda \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{p-v}{p+1-v} m^p(m)_{p+1-v,\lambda} \\
 &\quad + \lambda \sum_{i=1}^{p-1} \sum_{v=0}^{p-i} \binom{p}{v} \binom{p+1-v}{i} \frac{p-v}{p+1-v} B_{v,\lambda}^{(k)} B_{i,\lambda} m^p(m)_{p+1-v-i,\lambda} + \lambda \binom{p+1}{p} \frac{p}{p+1} B_{p,\lambda} m^p(m)_{1,\lambda} \\
 &= \sum_{v=0}^p \binom{p}{v} \frac{B_{v,\lambda}^{(k)}}{p+2-v} m^p(m)_{p+2-v,\lambda} + \lambda \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{p-v}{p+1-v} m^p(m)_{p+1-v,\lambda} \\
 &\quad + \sum_{i=1}^{p-1} \sum_{v=0}^{p+1-i} \binom{p}{v} \binom{p+2-v}{i} \frac{B_{v,\lambda}^{(k)}}{p+2-v} B_{i,\lambda} m^p(m)_{p+2-v-i,\lambda} \\
 &\quad + \lambda \sum_{i=1}^{p-1} \sum_{v=0}^{p-i} \binom{p}{v} \binom{p+1-v}{i} \frac{p-v}{p+1-v} B_{v,\lambda}^{(k)} B_{i,\lambda} m^p(m)_{p+1-v-i,\lambda} + B_{p+1,\lambda} m^{p+1}.
 \end{aligned} \tag{29}$$

So, by (29), we obtain the following theorem.

Theorem 4. Let $p \geq 3$ be an odd positive integer. Then we have

$$\begin{aligned}
 m^p S_{p,\lambda}^{(k)}(1, m) &= \sum_{v=0}^p \binom{p}{v} \frac{B_{v,\lambda}^{(k)}}{p+2-v} m^p(m)_{p+2-v,\lambda} + \lambda \sum_{v=0}^p \binom{p}{v} B_{v,\lambda}^{(k)} \frac{p-v}{p+1-v} m^p(m)_{p+1-v,\lambda} \\
 &\quad + \sum_{i=1}^{p-1} \sum_{v=0}^{p+1-i} \binom{p}{v} \binom{p+2-v}{i} \frac{B_{v,\lambda}^{(k)}}{p+2-v} B_{i,\lambda} m^p(m)_{p+2-v-i,\lambda} \\
 &\quad + \lambda \sum_{i=1}^{p-1} \sum_{v=0}^{p-i} \binom{p}{v} \binom{p+1-v}{i} \frac{p-v}{p+1-v} B_{v,\lambda}^{(k)} B_{i,\lambda} m^p(m)_{p+1-v-i,\lambda} + B_{p+1,\lambda} m^{p+1}.
 \end{aligned}$$

3 Conclusion

As a further generalization of Dedekind sums, we further study the reciprocity relations of degenerate poly-Dedekind sums. In this article, we introduced the degenerate poly-Dedekind sums, which are obtained from the Dedekind sums by replacing Bernoulli polynomials by degenerate poly-Bernoulli functions. We derived several explicit expressions and identities for the poly-Bernoulli polynomials and numbers in terms of the degenerate Stirling numbers of the second kind. We also investigated the poly-Bernoulli polynomials in terms of the degenerate Bernoulli polynomials and the degenerate Stirling numbers of the second kind. Meanwhile, we obtained the reciprocity relations for the degenerate poly-Dedekind sums associated with degenerate poly-Bernoulli functions. It can be further explored in connection with modular forms, ζ function, and trigonometric sums, just as in the cases of Apostol-Dedekind sums.

Funding information: This research was funded by the National Natural Science Foundation of China (No. 12271320, 12171311), Key Research and Development Program of Shaanxi (No. 2023-ZDLGY-02).

Author contributions: All authors have accepted responsibility for the entire content of this manuscript and approved its submission.

Conflict of interest: The authors state no conflict of interest.

Ethical approval: All authors declare that there is no ethical problem in the production of this article.

Data availability statement: Data sharing is not applicable to this article as no datasets were generated or analysed during the current study.

References

- [1] G. Muhiuddin, W. A. Khan, A. Muhyi, and D. Al-Kadi, *Some results on type 2 degenerate poly-Fubini polynomials and numbers*, Comput. Model. Eng. Sci. **129** (2021), no. 2, 1051–1073, DOI: <https://doi.org/10.32604/cmcs.2021.016546>.
- [2] G. Muhiuddin, W. A. Khan, and U. Duran, *Two-variable type 2 poly-Fubini polynomials*, Mathematics **9** (2021), no. 3, 281–294, DOI: <https://doi.org/10.3390/math9030281>.
- [3] T. M. Apostol, *Generalized Dedekind sums and transformation formulae of certain Lambert series*, Duke Math. J. **17** (1950), no. 2, 147–157, DOI: <https://doi.org/10.1215/S0012-7094-50-01716-9>.
- [4] T. M. Apostol, *A Study of Dedekind Sums and Their Generalization*, University of California, Berkeley, 1949.
- [5] A. Bayad and Y. Simsek, *Dedekind sums involving Jacobi modular forms and special values of Barnes zeta functions*, Ann. Inst. Fourier (Grenoble), **61** (2011), no. 5, 1977–1993, DOI: <https://doi.org/10.5802/aif.2663>.
- [6] M. Can, M. Cenkci, V. Kurt, and Y. Simsek, *Twisted Dedekind-type sums associated with Barnes' type multiple Frobenius-Euler l-functions*, Adv. Stud. Contemp. Math. (Kyungshang) **18** (2009), no. 2, 135–160. arXiv: 0711.0579[math.NT].
- [7] L. Carlitz, *An application of the reciprocity theorem for Dedekind sums*, Fibonacci Quart. **22** (1984), 266–270.
- [8] Y. Simsek, *Remarks on reciprocity laws of the Dedekind and Hardy sums*, Adv. Stud. Contemp. Math. (Kyungshang), **12** (2006), no. 2, 237–246.
- [9] Y. Simsek, *A note on Dedekind sums*, Bull. Calcutta Math. Soc. **85** (1993), 567–572.
- [10] T. Kim, D. S. Kim, H. Kim and L. C. Jang, *Identities on poly-Dedekind sums*, Adv. Difference Equ. **2020** (2020), no. 1, 563–576, DOI: <https://doi.org/10.1186/s13662-020-03024-x>.
- [11] T. Kim, D. S. Kim, J. Kwon, and H. Lee, *Degenerate polyexponential functions and type 2 degenerate poly-Bernoulli numbers and polynomials*, Adv. Difference Equ. **2020** (2020), no. 1, 168–180. DOI: <https://doi.org/10.1186/s13662-020-02636-7>.
- [12] Y. Ma, D. S. Kim, H. Lee, and T. Kim, *Poly-Dedekind sums associated with poly-Bernoulli functions*, J. Inequal. Appl. **2020** (2020), no. 11, 248–258, DOI: <https://doi.org/10.1186/s13660-020-02513-7>.
- [13] T. Kim, *Note on Dedekind-type DC sums*, Adv. Stud. Contemp. Math. (Kyungshang) **18** (2009), no. 2, 249–260, DOI: <https://doi.org/10.48550/arXiv.0812.2553>.
- [14] Y. Simsek, *Special functions related to Dedekind-type DC-sums and their applications*, Russ. J. Math. Phys. **17** (2010), no. 4, 495–508, DOI: <https://doi.org/10.1134/S1061920810040114>.

- [15] Y. Ma, D. S. Kim, H. Lee, H. Kim, and T. Kim, *Reciprocity of poly-Dedekind-type DC sums involving poly-Euler functions*, Adv. Difference Equ. **2021** (2021), no. 1, 30–48, DOI: <https://doi.org/10.1186/s13662-020-03194-8>.
- [16] T. Kim, D. S. Kim, H. Y. Kim, H. Lee, and L. C. Jang, *Degenerate poly-Bernoulli polynomials arising from degenerate polylogarithm*, Adv. Difference Equ. **2020** (2020), no. 1, 444–453, DOI: <https://doi.org/10.1186/s13662-020-02901-9>.
- [17] J. Kwon, W. J. Kim, and S. H. Rim, *On the some identities of the type 2 Daehee and Changhee polynomials arising from p -adic integrals on $\mathbb{Z}_p$* , Proc. Jangjeon Math. Soc. **22** (2019), 487–497.
- [18] Y. Ma and T. Kim, *A note on negative lambda-binomial distribution*, Adv. Difference Equ. **2020** (2020), no. 1, 569–576, DOI: <https://doi.org/10.1186/s13662-020-03030-z>.
- [19] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Util. Math. **15** (1979), no. 1, 51–88.
- [20] D. S. Kim and T. Kim, *A note on a new type of degenerate Bernoulli numbers*, Russ. J. Math. Phys. **27** (2020), 227–235, DOI: <https://doi.org/10.1134/s1061920820020090>.
- [21] G. Muhiuddin, W. A. Khan, and D. Al-Kadi, *Construction on the degenerate poly-Frobenius-Euler polynomials of complex variable*, J. Funct. Space. **2021** (2021), 1–9, DOI: <https://doi.org/10.1155/2021/3115424>.